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1. F H Bt 1, 525, 731
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3. N fE R R 3 1) = Bl A T ECRE 42, 857
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5. EH R R OB K A& X F OB 69, 390
6. fL & B M A BT R 197, 964
7. LB NERWE R T A TR 6, 650
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1. 3 [/ & B o B OE T R 674, 025
3. W B = A & 542, 871
1. 1% 77 # = A 4 542, 871
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1. & 1 4 110
5. H B X M & 18, 020
1. H Jei i B & 18, 020
6. I 53 i & 13, 610
1. K i B & 13, 610
7. R o= £ 3 150
1. % 7 &> 150
8. i A &> 80, 050
1. # A 4 80, 050
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. T8 ST 4 180, 010
166, 525
L 7 PERWME Y R T A 166, 525
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5. EH R R OB K A& X F OB 69, 390
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3. W B = A & 542, 871
1. 1% 77 # = A 4 542, 871
4. & i 4 110
1. & 1 4 110
5. H B X M & 18, 000
1. H Jei i B & 18, 000
6. I 53 i & 10, 810
1. K i Bl &> 10, 810
7.0 R & £ Bt & 150
1. % 7 4 150
8. i A &> 100, 060
1. # A 4 100, 060
9. & ik 4 126, 000
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T oA R OB 4y 1 L7 NEBEALF S T LRSS E 4 30, 510
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1. 1% 77 # = A 4 546, 210
4. & i 4 110
1. & 1 4 110
5. H B X M & 18, 000
1. H Jei i B & 18, 000
6. I 53 i & 8, 710
1. K i Bl &> 8, 710
7.0 R & £ Bt & 150
1. % 7 4 150
8. i A &> 175, 060
1. # A 4 175, 060
9. & ik 4 35, 000
1. # ik 4 35, 000
10. I A 1, 505
1. I A 1, 505
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3. A 1 4 10
1. & # 4 10
4. B HE X W & 1, 000
1. E Jei i B & 1, 000
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